# What can be expected from a Boolean derivative?

#### Sergiu Rudeanu

#### Abstract

Several concepts of a Boolean derivative have been investigated in the literature. In this paper we find out whether a Boolean operator can satisfy all of the three basic derivative-like properties: additivity, homogeneity and the Leibniz rule. In a certain sense, the answer is negative.

The attempts to establish Boolean analogues of several concepts and results from Calculus begun in 1917 with a paper by Daniell [6], which sketched a theory of convergence for sequences and series in a Boolean algebra. Some forty years later Reed [11], Huffman [9] and Akers Jr. [1] introduced (partial) derivatives of Boolean functions and pointed out their applicability to switching theory. Ever since then the theory of Boolean derivatives has developed tremendously, both in view of applications and for its own algebraic interest; see e.g. [3], [4], [5], [7], [10], [13], [15], [16], [17], [18], [19].

There are several Boolean analogues of the conventional concept of a derivative; of course, these Boolean derivatives share some, but not all of the properties of their conventional model. A paper by Bazsó and Lábos [2] states that a "good" concept of a derivative should be additive, i.e., (f + g)' = f' + g', homogeneous, i.e., (kf)' = kf', and should satisfy the Leibniz identity, i.e., (fg)' = fg' + gf'. Bazsó and Lábos are concerned with algebras of Boolean functions. They remark that the well-known sensitivity function does not

<sup>.</sup> Tebruary, 2005



Key Words: Boolean derivative; Additivity; Homogeneity; Leibniz rule.

Mathematics Subject Classification: 06E30, 94C10.

Received: December, 2008 Accepted: February, 2009

satisfy the Leibniz identity, but they construct an extension of the original Boolean algebra and they extend the original sensitivity function to the enlarged Boolean algebra in such a way that the extended sensitivity function does satisfy the Leibniz rule.

Having the above in mind, in this paper we address the problem of the existence of a convenient concept of a derivative in an arbitrary Boolean algebra. The paper is organized as follows. In Section 1 we recall a few prerequisites and state precisely the problem of finding the Boolean operators D which satisfy the basic derivative-like properties with respect to two Boolean operations  $\oplus$  and  $\odot$  which satisfy a few reasonable requirements. In Section 2 we prove there are four couples of functions  $\oplus$ ,  $\odot$  satisfying the requirements, namely I)  $x \oplus y = x + y, x \odot y = xy$  (ring sum and conjunction), II)  $x \oplus y = x \lor y, x \odot y = xy$ , and III), IV) their duals. In Sections 3 and 4 we solve the problem in the cases I) and II), respectively. The last Section is devoted to conclusions.

# 1 Statement of the problem

We work in a Boolean algebra  $(\mathbf{B}, \cdot, \vee, \prime, 0, 1)$ . The meet operation  $\cdot$  is also denoted by concatenation, while + stands for the ring sum  $x + y = xy' \lor x'y$ . The algebraic functions (or Grätzer polynomials) of the algebra **B** are called Boolean functions; they are characterized by the existence and uniqueness of the canonical disjunctive form. Thus e.g. a Boolean function of one variable can be written in the form  $f(x) = ax \lor bx'$ , where a = f(1), b = f(0), while the Boolean functions of two variables can be expressed as  $F(x,y) = \alpha xy \vee$  $\beta xy' \vee \gamma x'y \vee \delta x'y'$ , where  $\alpha = F(1,1), \ \beta = F(1,0), \ \gamma = F(0,1), \ \delta = F(0,0).$ In particular the term functions, which in [12] are called *simple Boolean func*tions, are those Boolean functions for which the coefficients of the canonical disjunctive form are taken from the set  $\{0,1\} \subseteq \mathbf{B}$ . Every function with arguments and values in the two-element Boolean algebra  $\{0,1\}$  is a simple Boolean function. For more details see [12]. We assume the reader has some familiarity with computation in a Boolean algebra, which obeys the same rules as computation with intersection, union and complements of sets, due to the well-known representation theorem for Boolean algebras.

In this paper **B** is an arbitrary Boolean algebra. It is well known that the set **B**(1) of Boolean functions of one variable  $f : \mathbf{B} \longrightarrow \mathbf{B}$  is itself a Boolean algebra with respect to the operations defined by  $(f \lor g)(x) = f(x) \lor g(x), (f \cdot g)(x) = f(x) \lor g(x), (f')(x) = (f(x))'$ . A map  $D : \mathbf{B}(1) \longrightarrow \mathbf{B}(1)$  will be called a Boolean operator provided there exist two Boolean functions  $\varphi, \psi : \mathbf{B}^2 \longrightarrow \mathbf{B}$  such that the following identity holds:

(1) 
$$(Df)(x) = D(ax \lor bx')(x) = \varphi(a,b)x \lor \psi(a,b)x' .$$

The Boolean operator D might be called a "good derivative" of the Boolean algebra  $\mathbf{B}(1)$  provided there exist two "convenient" operations  $\oplus, \odot : \mathbf{B}^2 \longrightarrow \mathbf{B}$  such that the equalities

(2) 
$$D(f \oplus g) = Df \oplus Dg$$
,

$$D(k \odot f) = k \odot Df,$$

(4) 
$$D(f \odot g) = (f \odot Dg) \oplus (g \odot Df) ,$$

hold for every  $f, g \in \mathbf{B}(1)$  and  $k \in \mathbf{B}$ .

More precisely, the following minimal hypothesis on  $\oplus$  and  $\odot$  seems natural:

(H)  $\oplus$  and  $\odot$  are two distinct non-constant commutative simple Boolean functions and  $\odot$  distributes over  $\oplus$ .

The aim of this paper is to determine the tripes  $(\oplus, \odot, D)$  satisfying (H) and one or several conditions out of (2), (3), (4).

# 2 Preliminary results

In this Section we determine all couples  $(\oplus, \odot)$  satisfying condition (H) and we express properties (2),(3) (4) in terms of the functions  $\varphi, \psi$ .

**Proposition 1** Two Boolean operations  $\oplus \odot$  are commutative and  $\odot$  distributes over  $\oplus$  if and only if they are of the form

(5) 
$$x \oplus y = Hxy + I(x+y) + Kx'y',$$

(6) 
$$x \odot y = Rxy + S(x+y) + Vx'y',$$

where

(7) 
$$(R' \vee H')S \vee (V \vee K)S' = 0.$$

**PROOF:** We start with the canonical disjunctive forms

$$\begin{aligned} x \oplus y &= Hxy \lor Ixy' \lor Jx'y \lor Kx'y' , \\ x \odot y &= Rxy \lor Sxy' \lor Tx'y \lor Vx'y' . \end{aligned}$$

A theorem due to E. Schröder [14] (see e.g. [12], Corollary of Theorem 12.6) says that  $\odot$  is left- and right-distributive over  $\oplus$  if and only if

$$H'(R \lor V)(S \lor T) \lor K(R' \lor V')(S' \lor T')$$

 $\vee (HK \vee H'K' \vee IJ \vee I'J')(R'S \vee R'T \vee S'V \vee T'V) = 0.$ 

On the other hand, it is well known and easy to see that the commutativity of  $\oplus$  and  $\odot$  is equivalent to J = I and T = S, hence the above Schröder condition can be written in the equivalent forms

$$H'(R \lor V)S \lor K(R' \lor V')S' \lor R'S \lor S'V = 0,$$
  
$$(H'R \lor H'V \lor R')S \lor (KR' \lor KV' \lor V)S' = 0,$$

and the latter condition coincides with (7). Finally the canonical disjunctive forms of  $\oplus$  and  $\odot$  can be written in the forms (5) and (6) because  $\alpha\beta = 0 \iff \alpha \lor \beta = \alpha + \beta$ .

**Theorem 1** There are four pairs of functions satisfying hypothesis (H), namely  $(H_0)$   $x \odot y = xy$  and  $x \oplus y \in \{x + y, x \lor y\}$ ,

and

(H<sub>1</sub>)  $x \odot y = x \lor y$  and  $x \oplus y \in \{xy, x + y + 1\}$ .

PROOF: In view of Proposition 1, we have to characterize those distinct functions  $\oplus, \odot$  which satisfy (5), (6), (7), whose coefficients H, I, K, R, S, V are in  $\{0, 1\}$  and which do not reduce to the constant functions 0 or 1.

There are two cases.

1) S = 0. Then (7) implies V = K = 0, hence (5) and (6) reduce to  $x \oplus y = Hxy + I(x+y)$  and  $x \odot y = Rxy$ . But  $\odot$  is not a constant, therefore R = 1, while the values 0 or 1 of H and I yield  $x \oplus y \in \{xy, x \lor y, x+y+1, 1\}$ . In view of (H) this reduces to (H<sub>0</sub>).

2) S = 1. Then (7) implies R = H = 1, hence (5) and (6) reduce to  $x \oplus y = xy + I(x+y) + Kx'y'$  and  $x \odot y = xy + x + y + Vx'y'$ . We are going to use the identities the identities

$$xy + x'y' = (x + y)' = x + y + 1$$
 and  $x \lor y = x + y + xy$ .

We first note that V = 0, otherwise V = 1 would imply  $x \odot y = 1$ . So  $x \odot y = x \lor y$ , while  $x \oplus y \in \{xy, x \lor y, x+y+1, 1\}$ . In view of (H) this reduces to (H<sub>1</sub>).

To express conditions (2)-(4) in terms of the functions  $\varphi, \psi$ , we use the standard notation

(8) 
$$f(x) = ax \lor bx' = ax + bx', \ g(x) = cx \lor dx' = cx + dx'$$

for two arbitrary Boolean functions  $f, g \in \mathbf{B}(1)$ .

Then the definition of Boolean operations in the Boolean algebra  $\mathbf{B}(1)$ yields  $(f \oplus g)(1) = f(1) \oplus g(1) = a \oplus c$  and  $(f \oplus g)(0) = f(0) \oplus g(0) = b \oplus d$ , therefore

(9) 
$$(f \oplus g)(x) = (a \oplus c)x + (b \oplus d)x',$$

and similarly

(10) 
$$(k \odot f)(x) = (k \odot a)x + (k \odot b)x',$$

(11) 
$$(f \odot g)(x) = (a \odot c)x + (b \odot d)x' .$$

By applying formula (1) to the functions (9), (10) and (11), we obtain

(12) 
$$[D(f \oplus g)](x) = \varphi(a \oplus c, b \oplus d)x + \psi(a \oplus c, b \oplus d)x',$$

(13) 
$$[D(k \odot f)](x) = \varphi(k \odot a, k \odot b)x + \psi(k \odot a, k \odot b)x',$$

(14) 
$$[D(f \odot g)](x) = \varphi(a \odot c, b \odot d)x + \psi(a \odot c, b \odot d)x'$$

On the other hand, taking into account formula (1) and its companion

(11') 
$$(Dg)(x) = D(cx \lor dx')(x) = \varphi(c,d)x \lor \psi(c,d)x' ,$$

we see that formulae (9), (10) and (11) yield

(15) 
$$(Df \oplus Dg)(x) = [\varphi(a,b) \oplus \varphi(c,d)]x + [\psi(a,b) \oplus \psi(c,d)]x' ,$$

(16) 
$$(k \odot Df)(x) = [k \odot \varphi(a, b)]x + [k \odot \psi(c, d)]x' ,$$

(17) 
$$(f \odot Dg)(x) = [a \odot \varphi(c, d)]x + [b \odot \psi(c, d)]x',$$

(18) 
$$(g \odot Df)(x) = [c \odot \varphi(a, b)]x + [d \odot \psi(a, b)]x'.$$

It follows from (17) and (18) that

(19) 
$$[(f \odot Dg) \oplus (g \odot Df)](x) =$$
$$= [(a \odot \varphi(c, d)) \oplus (c \odot \varphi(a, b))]x + [(b \odot \psi(c, d)) \oplus (d \odot \psi(a, b))]x' .$$

**Proposition 2** The following systems (20), (21) and (22) are equivalent to conditions (2), (3) and (4), respectively.

- (20.1)  $\varphi(a \oplus c, b \oplus d) = \varphi(a, b) \oplus \varphi(c, d) ,$
- (20.2)  $\psi(a \oplus c, b \oplus d) = \psi(a, b) \oplus \psi(c, d) ,$
- (21.1)  $\varphi(k \odot a, k \odot b) = k \odot \varphi(a, b) ,$
- (21.2)  $\psi(k \odot a, k \odot b) = k \odot \psi(a, b) ,$

(22.1) 
$$\varphi(a \odot c, b \odot d) = [a \odot \varphi(c, d)] \oplus [c \odot \varphi(a, b)]$$

(22.2) 
$$\psi(a \odot c, b \odot d) = [b \odot \psi(c, d)] \oplus [d \odot \psi(a, b)].$$

PROOF: By (12), (13), (14) and (15), (16), (19).

To proceed further we introduce the notation

(23) 
$$\varphi(x,y) = Axy + Bxy' + Cx'y + Ex'y',$$

(24) 
$$\psi(x,y) = Mxy + Nxy' + Px'y + Qx'y',$$

where the coefficients  $A, \ldots, Q$  need not be 0,1, but may be any elements of the Boolean algebra **B**. We split the discussion into two cases, corresponding to  $(H_0)$  and  $(H_1)$  of Theorem 1.

**3** The case  $x \oplus y = x + y, x \odot y = xy$ 

Conditions (2)-(4) become

(25) 
$$D(f+g) = Df + Dg,$$

$$(26) D(kf) = kDf ,$$

$$(27) D(fg) = fDg + gDf$$

In order to solve in this case the problem stated in Section 1 we use Proposition 2 with the conditions (20)-(22) corresponding to the present case. We describe an arbitrary Boolean operator D by formulae (1), (23) and (24).

### **Theorem 2** Let D be a Boolean operator. Then:

- I) D satisfies (25) if and only if A + B + C = M + N + P = E = Q = 0.
- II) D satisfies (26) if and only if E = Q = 0.

III) The only Boolean operator satisfying (25), (26) and (27) is the constant operator D = 0.

**PROOF:** I) Taking into account that x' = x + 1, formula (23) can be written in the form

$$\varphi(x,y) = (A + B + C + E)xy + (B + E)x + (C + E)y + E,$$

therefore in this case condition (20.1) can be written in the equivalent forms

$$(A + B + C + E)(a + c)(b + d) + (B + E)(a + c) + (C + E)(b + d) + E$$

(

$$= (A + B + C + E)ab + (B + E)a + (C + E)b + E + +(A + B + C + E)cd + (B + E)c + (C + E)d + E , (A + B + C + E)(ad + bc) + E = 0 .$$

Setting a := b := 0, we see that E = 0, hence (A + B + C)(ad + bc) = 0, and setting a := d := 1, b := 0, we get A + B + C = 0. Clearly conditions A + B + C = E = 0 are also sufficient. One proves similarly that (20.2) is equivalent to M + N + P = Q = 0.

II) Condition (21.1) can be written in the equivalent forms

$$\begin{split} \varphi(ka,kb) &= k\varphi(a.b) \;, \\ Akakb + Bka(k' \lor b') + C(k' \lor a')kb + E(ka+1)(kab+1) \\ &= kAab + kBab' + kCa'b + kE(a+1)(b+1) \;, \\ E(kab + ka + kb + 1 + kab + ka + kb + k) &= 0 \;, \\ E(1+k) &= 0 \;, \end{split}$$

which holds for any k iff E = 0. Similarly, the corresponding condition (21.2) holds iff Q = 0.

III) The trivial operator D = 0 satisfies (25)-(27). Conversely, suppose D fulfils (25), (26) and (27). Then E = Q = 0 and A + B + C = M + N + P = 0 by I) and II). Besides,  $\varphi$  satisfies (22.1), which becomes

(28) 
$$\varphi(ac, bd) = a\varphi(c, d) + c\varphi(a, b) .$$

Setting a := d := 0, b := c := 1, we obtain  $\varphi(0, 0) = \varphi(0, 1)$ , i.e., E = C. So C = 0, which implies A + B = 0, that is, A = B. It follows that  $\varphi(x, y) = Axy + Axy' = Ax$ . Therefore condition (28) can be written Aac = aAc + cAa, that is, Aac = 0, which is equivalent to A = 0. One proves similarly that M = N = P = 0.

### 4 The case $x \oplus y = x \lor y, x \odot y = xy$

Conditions (2)-(4) become

(29) 
$$D(f \lor g) = Df \lor Dg ,$$

- (30) D(kf) = kDf ,
- $D(fg) = fDg \lor gDf .$

We use Proposition 2 with the conditions (20)-(22) corresponding to the present case. Again, an arbitrary Boolean operator D is described by formulae (1), (23) and (24).

#### Theorem 3 Let D be a Boolean operator. Then:

I) D satisfies (30) if and only if E = Q = 0.

II) D satisfies (29) and (30) if and only if E = Q = 0,  $A = B \lor C$  and  $M = N \lor P$ . These conditions are equivalent to  $\varphi(x, y) = Bx \lor Cy$  and  $\psi(x, y) = Nx \lor Py$ .

III) D satisfies (29), (30) and (31) if and only if C = E = N = Q = 0and A = B and M = P. These conditions are equivalent to  $\varphi(x, y) = Bx$  and  $\psi(x, y) = Py$ , that is,

(32) 
$$(Df)(x) = D(ax \lor bx')(x) = Bax \lor Pbx'.$$

**PROOF:** I) By Theorem 2.II), as that result does not depend on the operation  $\oplus$ .

II) Suppose D satisfies (29) and (30). Then E = Q = 0 by I), while condition (20.1) becomes  $\varphi(a \lor c, b \lor d) = \varphi(a, b) \lor \varphi(c, d)$ . Setting a := d := 1, b := c := 0, we obtain  $\varphi(1, 1) = \varphi(1, 0) \lor \varphi(0, 1)$ , i.e.,  $A = B \lor C$ . On proves similarly that  $M = N \lor P$ .

Conversely, suppose E = Q = 0,  $A = B \lor C$  and  $M = N \lor P$ . Then (30) holds by I), while

$$\varphi(x, y) = (B \lor C)xy \lor Bxy' \lor Cx'y = Bx \lor Cy ,$$
$$\varphi(a \lor c, b \lor d) = B(a \lor c) \lor C(b \lor d) = \varphi(a, b) \lor \varphi(c, d) ,$$

that is, (20.1) holds. One proves similarly (20.2), therefore D satisfies (29).

III) Suppose D satisfies (29), (30) and (31). Then  $A = B \lor C$ ,  $M = N \lor P$ and E = Q = 0 by II), while (22.1) becomes  $\varphi(ac, bd) = a\varphi(c, d) \lor c\varphi(a, b)$ . Setting a := d := 0, b := c := 1, we obtain  $\varphi(0, 0) = \varphi(0, 1)$ , that is, E = C. So C = 0 and A = B. One proves similarly, using (22.2), that  $\varphi(0, 0) = \varphi(1, 0)$ , that is, Q = N, hence N = 0 and M = P. We have thus obtained (32).

Conversely, suppose C = E = N = Q = 0, A = B and M = P, or equivalently, D is of the form (32). Then one can check directly that D satisfies (29), (30) and (31).

**Remark 1** The operators (32) satisfy condition (31) in the stronger form D(fg) = fDg = gDf.

**Remark 2** While most Boolean derivatives occurring in the literature are defined in terms of the ring sum +, Fadini [8] defines  $Df = f(0) \lor f(1)$ . The Fadini derivative falls within case II) of Theorem 3, with B = C = N = P = 1.

## 5 Conclusions

Let  $\mathbf{B}(1)$  be the set of Boolean (i.e., algebraic) functions  $f : \mathbf{B} \longrightarrow \mathbf{B}$ over an arbitrary Boolean algebra  $(\mathbf{B}, \lor, \cdot, ', 0, 1)$ . We have investigated the possibility of the existence of a Boolean operator  $D : \mathbf{B}(1) \longrightarrow \mathbf{B}(1)$  satisfying the properties

(2)  $D(f \oplus g) = Df \oplus Dg$ ,

$$(3) D(k \odot f) = k \odot Df ,$$

(4)  $D(f \odot g) = (f \odot Dg) \oplus (g \odot Df) ,$ 

under mild conditions on the term functions  $\oplus, \odot: \mathbf{B}^2 \longrightarrow \mathbf{B}$ .

There are four such pairs  $(\oplus, \odot)$ , namely  $(x + y, xy), (x \lor y, xy), (x + y + 1, x \lor y)$  and  $(xy, x \lor y)$ , where  $x + y = xy' \lor x'y$  is the ring sum and  $x + y + 1 = (x + y)' = (x \lor y')(x' \lor y)$ . Having in view duality, we have dealt only with the first two cases. In the first case we have constructed all the Boolean operators D which satisfy (2)/ which satisfy (3)/ which satisfy (2), (3) and (4). In the second case we have obtained characterizations of the Boolean operators D which satisfy (3)/ which satisfy (2), (3) and (4).

Our problem comes from switching theory, where a few concepts of Boolean derivative have been intensively studied and which are pretty good analogues of the conventional concept of derivative for the Boolean ring  $(\mathbf{B}, \oplus, \cdot, 0, 1)$ , but fail to satisfy the Leibniz rule (4). This was the starting point of a paper by Bazsó and Lábos [2].

Our paper implies that there is no "good" Boolean derivative satisfying all of the properties (2), (3) and (4). For in the above first case

## References

- [1] S.B. Akers Jr.: On a theory of Boolean functions. SIAM J. 7(1959), 487-498.
- [2] F. Bazsó, E. Lábos: Boolean-Lie algebras and the Leibniz rule. J. Phys. A: Math. and General 39(2006), 6871-6876.
- [3] D. Bochmann: Binäre Systeme. Ein Boolean Buch. Lilole Verlag, Hagen 2006.
- [4] D. Bochmann, C. Posthoff: Binäre Dynamische Systeme. R. Oldenburg, München-Wien 1981.
- [5] F.M. Brown: Boolean Reasoning. The Logic of Boolean Equations. Second Ed. Dover Publ., Mineola New York 2003. First Ed. Kluwer Acad Publ., Boston 1990.
- [6] P.J. Daniell: The modular difference of classes. Bull. Amer. Math. Soc. 23(1917), 446-450.

- [7] M. Davio, J.-P. Deschamps, A. Thayse: Discrete and Switching Functions. McGraw Hill, New York 1978.
- [8] A. Fadini: Operatori che estendono alle algebre di Boole la nozione di derivata. Giorn. Mat. Battaglini 89(1961), 295-303.
- [9] D.A. Huffman: Solvability criterion for simultaneous logical equations. MIT Res. Lab. Electronics, Quart. Progress Rep. No.48, 15 Jan. 1958, 87-88.
- [10] C. Posthoff, B. Steinbach: Logic Foundations and Equations. Biunary Models for Computer Science. Springer Verlag, Dordrecht 2004.
- [11] I.S. Reed: A class of multiple error-correcting and the decoding scheme. IRE Trans. Information Theory IT-4 (1954), 38-49.
- [12] S. Rudeanu: Boolean Functions and Equations. North-Holland, Amsterdam; Elsevier, New York 1974.
- [13] W.G. Schneeweiss: Boolean Functions, with Engineering Applications and Computer Programs. Springer Verlag, Berlin 1989.
- [14] E. Schröder: Vorlesungen über die Algebra der Logik. Leipzig; vol.1, 1890; vol.2, 1891,1905; vol.3, 1895. Reprint Chelsea, Bronx NY 1966.
- [15] A. Thayse: Boolean Calculus of Differences. LNCS 101, Springer Verlag, Berlin 1981.
- [16] A. Thayse: P-Functions and Bolean Matrix Factorization. LNCS 175, Springer Verlag, Berlin 1984.
- [17] A. Thayse: Logique et Théorie des Systèmes Digitaux. Hermes-Lavoisier, Paris 2002.
- [18] A. Thayse: Calcul Diff'erentiel pour les Langues de la Logique. Hermes-Lavoisier, Paris 2004.
- [19] S. Yanushkevic: Logic Differential Calculus in Multi-Valued Logic Design. Tech. Univ. Szczecin, Szczecin 1998.

University of Bucharest Faculty of Mathematics and Informatics Str. Academiei No.14, 010014, Bucharest, Romania e-mail:srudeanu@yahoo.com